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Adapted from J. Harbeck, “How English gave birth to surprising new languages,” BBC.com, August 2016
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@D Asaresult @ However
@ For example @ In fact

3 T# (3) ZHAREICHY,

M4 T (4) the main source language 1F{ifZ 4537y, AP LY 175K & HHE,

5 Zepf (5 ) ICHROAR-SOHEEZ#EYLRERKIC s Loz X,
based / French / is / official / on [/ the

16 Which statement of (D~@ best describes the difference between a pidgin and a creole
according to the article?
(D A creole has complete grammar, but a pidgin does not.
@ A pidgin has complete grammar, but a creole does not.
@ A creole is spoken by children, but a pidgin is not.
@ A pidgin is spoken by children, but a creole is not.

B7 ROO~DIZHoWVWT, —HOOFmOBEVIRENRENR @ time, separation,
© contact DWTHIZE 2 b0, KLEHDRLOERY, ZORETERAT L,
(® Ancient Greek and modern Greek.
® Danish and Norwegian.

@ Hindi and Urdu.
@ 0Ild English and modern English.
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(D Spanish is one of several languages that have evolved from Latin.

@) There are at least two official languages in Papua New Guinea.

(@ Tok Pisin has not yet acquired status as a creole.

@ Gullah is a creole spoken in West Africa and the USA.

(B The birth of Singlish was due to Singapore’s education system.

® More Singlish vocabulary comes from Malay and Tamil than from English.

(@ It is predicted that local versions of English will eventually all die out.
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@ Read the article below and answer Questions 1 to 6 (Q 1 ~6).

Adapted from “Beating the summer heat,” The Mainichi, July 8, 2017
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Q1. Which statement of (D~@ best summarizes the main idea of the 1*' paragraph?
(D The government and people of Tokyo are very pleased to host the 2020 Olympics.
@ The marathon running events need to be measured carefully for distance.
3 The Olympic organizers need to find ways to keep athletes from overheating.
@ The preparations for the Tokyo Olympic Games are coming along well.

Q2. At what time are the two Olympic marathon events scheduled to begin? Spell out your

answer.

Q3. What does the question in the 3 paragraph imply? Choose one statement of (D~@.
(D The heat-reflecting road surface material has not been tested enough.
@ The heat problem for the marathon will be solved using the new road coating.
(® The road coating material may not completely solve the heat problem for the runners.

@ The supply of heat-shielding road material is still not sufficient.

Q4. Write an appropriate word for the blank space shown as ( * ).

Q5. How many runners completed the 2007 marathon in Osaka? Write a number.

Q6. Choose the sentence of (D~@ that best suits the blank space shownas( # ).
(D That is something we would enjoy to see happen at an athletic event.
@ That is the last thing you want to see happen at a sports championship event.
@ That is the next thing anyone would enjoy to see happen at any sports event.
@ That is the very thing I would like to see happen at a sports championship event.

— b — O M4(899—59)



KOV (B1~2) &2 X, 2EL, B2ico0nWCit, Bz a=r—
3 VEROZBRFIX(B)IZ, TRUAOZEBRFIT(A)ICEZ L,

M1 ROEILEHEAT, 20 [A I ] AR DO LY b 02 ERD~
@05 bbb —oRY, TOFBEZRLATL, L, FFEIALE - MCFORH
HLARWZ L &L, FUHEZ&YIELTHER LTIV 2, &k, RIREICER

LIRWEER 25 D,

According to new research, the world’s demand for water cannot be met by 2040.  There
is question that water shortage is one of the most serious environmental issues, leading
to damage to plants and soils. only that, it can be a cause of conflicts. It is because
water is essential people’s health, industry, and way of life. ~About health, when clean
water is unavailable, people @ to use dirty water.  As for industry, @ enough water,
many factories cannot run at full capacity. Finally, water shortages may change people’s
culture. For example, shortages may affect rice cultivation and agricultural traditions.

In this way, people’s lives depend sharing fresh water. one country or
group dominates water resources, other countries or groups may face water shortages.
Then, conflicts [II limited water resources may take place in many parts of the world. It

is safe to say that water shortage is a human problem as as an environmental problem.

@ above ® if © over

@ almost ® no @ therefore
® for @ not a well

@ have on @ without
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(A) Imagine that you are a student named Andy. You got the e-mail below from your classmate
and good friend, Sandy. Reply to Sandy in around 40 words in English. Include information

about a homework assignment given in geography class.

Hi, Andy

I had a bad cold and stayed in bed and slept all day today. I'm feeling
a lot better now. Was there any homework in any class? [ hope we
can meet for lunch tomorrow as always!

Sandy

(B) You are a student named Andy. You got the mail below from your classmate and good
friend, Sandy. Reply to Sandy in around 80 words, including information about a geography

homework assignment.

Hey Andy

I had a terrible cold and stayed in bed all day today. It must’ve been
because of the changeable weather recently. Anyway, I'm feeling a lot
better now.

Did you go to Smith’s geography class? Can you tell me what
happened and if there was any homework? Did Smith say when the
outline of the oral presentation was due?

I hope we can meet for lunch tomorrow as usual! Do you have any
plan for after school?

Sandy
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